Table S1: Aggregations of aggregated stakeholder responses using approximate numbers and confidence intervals.

. . Approximate Lower Upper Lower Upper .
# Abbreviated question Number +1 -1 +1 +1 1 1 Conclusion Group 1 Group 2 Group 3
4 gl: concerned with selection of 0.540.8 73% 19% 529% 38% 7% 39% Strongly Unanimous IN IN
WWT Yes Yes
5 g2: no interest !n WWT -0.940 4 4% 92% 0% 20% 75% 99% Strongly IN Unanimous Strongly
technologies No No No
6 g2: interest in approval of WWT -0.5+0.8 15% 62% 4% 35% 41% 80% No IN IN IN
7 g2: interest in selection of WWT 0.2+0.9 50% 31% 30% 70% 14% 52% CF/Yes IN IN IN
g | G2 interest {,'\’/\ﬁemh about -0.240.9 31% 54% 14% 52% 33% 73% CF/No IN IN Str$ezg'y
9 q2: other interest -0.9640.20 0% 96% 0% 13% 80% 100% strongly | Unanimous | Strongly strongly
No No No No
10 q3: BAT known 0.540.8 65% 19% 44% 83% 7% 39% Yes Str$e:g'y IN IN
11 q4: BAT rather important 0.88+0.33 88% 0% 70% 98% 0% 13% strongly | Strongly | Strongly | Unanimous
Yes Yes Yes Yes
12 q5: flexible BAT is suitable 1. 100% 0% 87% 100% 0% 13% Unanimous | Unanimous | Unanimous | Unanimous
Yes Yes Yes Yes
13 q6: existing WWT are BAT 0.340.8 58% 23% 37% 77% 9% 44% CF/Yes IN Str$e”$g'y IN
14 g7a: environmental impacts 1 100% 0% 87% 100% 0% 13% Unanimous | Unanimous | Unanimous | Unanimous
matter for WWT ) ’ ? ? ? ’ ? Yes Yes Yes Yes
15 | q7a: costs matter for WWT 0.840.5 85% 4% 65% 96% 0% 20% strongly | Unanimous | Strongly IN
Yes Yes Yes
16 g7a: acceptance by users matters 0.840.5 81% 4% 61% 93% 0% 20% Strongly IN Unanimous Strongly
for WWT Yes Yes Yes
17 g7a: ease of use matters for 0.8840.33 88% 0% 70% 98% 0% 13% Strongly Strongly Strongly Unanimous
WWT Yes Yes Yes Yes
18 |  g7a: health matters for WWT 0.9+0.4 92% 4% 75% 99% 0% 20% strongly IN Unanimous | Unanimous
Yes Yes Yes
19 | q7a: recycling matters for WWT 0.740.6 77% 8% 56% 91% 1% 25% Yes IN IN U”a:;;':ous
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Table S1, continued

. Approximate Lower Upper Lower Upper .
# Question Number +1 1 +1 +1 1 1 Conclusion Group 1 Group 2 Group 3
20 q7b: rank pollution 0.840.4 77% 0% 56% 91% 0% 13% strongly | Strongly | Strongly IN
Yes Yes Yes
21 g7b: rank costs 0.5+0.6 50% 4% 30% 70% 0% 20% Yes IN IN IN
22 q7b: rank acceptance 0.4+0.6 46% 4% 27% 67% 0% 20% Rather Yes IN IN IN
23 q7b: rank ease of use 0.540.6 54% 8% 33% 73% 1% 25% Yes IN IN s";’e';g'y
| |
24 q7b: rank health 0.740.5 73% 4% 52% 88% 0% 20% Yes St"?{f v IN Str$e2g v
25 g7b: rank recycling 0.0+0.6 15% 19% 1% 35% 7% 39% Perhaps No IN IN IN
26 | 982 recycling forirrigation is 0.640.6 69% 8% 48% 86% 1% 25% Yes strongly IN IN
important Yes
27 q8a: recycllr_1g for toilet flushing is 0.740.5 69% 0% 48% 36% 0% 13% Strongly Strongly IN Strongly
important Yes Yes Yes
28 a8a: recycling of sludge is 0.540.7 58% 12% 37% 77% 2% 30% Yes Unanimous IN IN
important Yes
29 g8a: use of biogas is important 0.5+0.6 62% 8% 41% 80% 1% 25% Yes IN IN IN
Perh
30 g8a: other is important 0.0+0.4 12% 8% 2% 30% 1% 25% e;eips IN IN IN
31 q8b: rank irrigation 0.640.5 62% 0% 41% 80% 0% 13% Yes Str;’ensg'y IN IN
32 q8b: rank toilet 0.640.6 65% 4% 44% 83% 0% 20% Yes IN IN S";’e’;g'y
|
33 q8b: rank sludge 0.440.5 42% 0% 23% 63% 0% 13% Rather Yes St"?{f y IN IN
34 q8b: rank biogas 0.440.7 50% 12% 30% 70% 2% 30% CF/Yes Str;’ensg'y IN IN
35 q8b: rank other 0.0+0.4 8% 8% 1% 25% 1% 25% '”de:te;m'” IN IN IN
36 q9: interest in standards 0.540.8 69% 15% 48% 86% 4% 35% Yes IN IN U”a:;g:o“s
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Table S1, continued

. Approximate Lower Upper Lower Upper .
# Question Number +1 -1 +1 +1 1 1 Conclusion Group 1 Group 2 Group 3
37 | q10: add pollutant to standards 0.040.8 31% 27% 14% 52% 12% 48% Pe;z:ps IN IN IN
38 q10: keep standards as they are -0.3+0.7 12% 46% 2% 30% 27% 67% Perhaps No IN IN IN
39 | 91O remz::nzc;':;‘za”ts from -0.240.7 15% 38% 4% 35% 20% 59% | Perhaps No IN IN IN
40 gl1: reﬁ::g;‘zzo'ds of 0.040.7 19% 27% 7% 39% 12% 48% Perhaps No IN IN IN
41 q11: keep thresholds -0.140.7 19% 31% 7% 39% 14% 52% Perhaps No IN IN Str\?ensg'y
42 gl1: sharpen thresholds -0.3+0.7 12% 38% 2% 30% 20% 59% Perhaps No IN IN Str'c\Jlr;eg
12: enf f i
43 | 950 °r$:$2:ts§ ics'tta”dards 51 03407 15% 50% 4% 35% 30% 70% CF/No IN IN IN
aa | 91 usi:p‘?gcl";fstzay most -0.240.8 23% 42% 9% 44% 23% 63% Perhaps No IN IN IN
45 | G14:users Sh°:cft§ay mostO&M | 5 510.8 42% 27% 23% 63% 12% 48% Pe;:zps IN IN IN
a6 | 915 s”bStar';t'c;'d'}i‘ée”“es from 0.140.8 38% 27% 20% 59% 12% 48% Pe:‘(f:ps IN IN IN
a7 | G0 U”;)r?vgor‘;‘z;:m]eg”t should 0.540.6 58% 8% 37% 77% 1% 25% Yes IN IN IN
ag | 916% Stzﬁvio:’:xcrﬁ:gt should 0.640.6 62% 4% 41% 80% 0% 20% Yes IN Str$e”$g'y IN
49 | gl6a: ULBs should drive recycling 0.4+0.7 54% 12% 33% 73% 2% 30% Yes IN IN IN
50 | 9162 p”"atfeiiitl?nr;ho“'d drive | 59408 19% 42% 7% 39% 23% 63% Perhaps No IN IN IN
51 gl6a: other drivers 0.0+0.4 4% 12% 0% 20% 2% 30% Perhaps No IN IN IN
5y | al6birank Urz‘r’isegro"emme”t a 0.540.6 58% 4% 37% 77% 0% 20% Yes IN IN s”?f"’
53 ql6b: rank statfe government as 0.740.5 77% 4% 56% 91% 0% 20% Yes Strongly Strongly N
driver Yes Yes
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Table S1, continued

. Approximate Lower Upper Lower Upper .
# Question Number +1 -1 +1 +1 1 1 Conclusion Group 1 Group 2 Group 3
54 g16b: rank ULBs as driver 0.5+0.5 50% 0% 30% 70% 0% 13% Yes IN IN IN
55 | 916k rank;’r:'\:':rte sector as 0.240.8 38% 23% 20% 59% 9% 44% Pe:‘(f;jps IN IN IN
56 q16b: rank “other drivers” 0.240.8 38% 23% 20% 59% 9% 44% Pe;:zps IN IN IN
57| 9 V'O'a“;’ar;r‘i’;sta”dard 's 0.540.6 58% 4% 37% 77% 0% 20% Yes IN IN IN
sg | a18: futile over-fulfillment of 0.240.8 42% 19% 23% 63% 7% 39% Perhaps IN IN IN
standards is barrier Yes
5q | Gl&nitrogen irrelevant if wateris | o, o 38% 8% 20% 59% 1% 25% Perhaps IN IN IN
used for irrigation Yes
I
60 |  q18: capital costs are barrier 0.540.6 58% 8% 37% 77% 1% 25% Yes IN S”?;f ¥ IN
61 g18: O&M costs are barrier 0.31+0.7 50% 15% 30% 70% 4% 35% CF/Yes IN IN IN
62 | 91& '?i‘p‘;i;aeprica';‘g:'“de“ 0.340.7 42% 12% 23% 63% 2% 30% Pe;:zps IN IN IN
q18: lack of qualified personnel is
63 o 0.340.7 50% 15% 30% 70% 4% 35% CF/Yes IN IN IN
64 q18: lacking demand for 0.3+0.7 46% 12% 27% 67% 2% 30% Perhaps IN IN IN
unknown technology Yes
65 al8: '?::;;::;Z:t':ﬁ'g;pe‘ies 0.140.7 31% 19% 14% 52% 7% 39% Pe;:zps IN IN IN
18: lack of |
66 418: lack of approval or 0.340.8 50% 19% 30% 70% 7% 39% CF/Yes IN IN IN
certification is barrier
g7 | 918 water rtifz;g’l?caccepted by | 4207 50% 12% 30% 70% 2% 30% CF/Yes IN IN IN
g | 9 the;sa'tserr";e'zgznt“’e for 0.340.7 38% 12% 20% 59% 2% 30% Pe;z:ps IN IN IN
Perh
69 q18: other barriers 0.240.5 19% 4% 7% 39% 0% 20% e;ejps IN IN IN
70 19: make recycling mandatory 0.8+0.5 88% 4% 70% 98% 0% 20% Str\c()ensgly IN Una\r;;r:ous Str\c()ensgly
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Table S1, continued

i U
# Question Ap::?:::;fte +1 -1 Lo::.er U;:ger Lo-v:\ller T;er Conclusion Group 1 Group 2 Group 3
71 g19: penalize L:ILBs for not 0.8840.33 88% 0% 20% 98% 0% 13% Strongly Unanimous Strongly Strongly
recycling Yes Yes Yes Yes
7 q19: Union governme.nt should 0.840.4 85% 0% 65% 96% 0% 13% Strongly Unanimous Strongly IN
support recycling Yes Yes Yes
73 g19 state governmer.1t should 0.8+0 4 85% 0% 65% 96% 0% 13% Strongly Strongly Strongly Strongly
support recycling Yes Yes Yes Yes
19:i jonal houl I
74 | @ gp:gsfggfgs:saf:ro::z;sc;nz“ 41 o6+06 69% 8% 48% 86% 1% 25% Yes St"?{f v IN IN
75 qlo: |.nternat|onal techmcal 0.840.5 88% 4% 70% 98% 0% 20% Strongly Unanimous IN Strongly
assistance for recycling Yes Yes Yes
g19: user fees and taxes for Perhaps
76 . 0.3+0.7 46% 15% 27% 67% 4% 35% IN IN IN
recycling Yes
77 q19: more aware.ness rising for 0.88+0.33 88% 0% 70% 98% 0% 13% Strongly Unanimous Strongly Strongly
recycling Yes Yes Yes Yes
78 g19: more capau.ty building for 0.9240.27 929% 0% 759% 99% 0% 13% Strongly Unanimous | Unanimous Strongly
recycling Yes Yes Yes Yes
79 420 rank mandatory 0.8+0.4 77% 0% 56% 91% 0% 13% strongly | Strongly | Strongly IN
Yes Yes Yes
80 q20: rank penalty 0.540.6 54% 8% 33% 73% 1% 25% Yes Str?f"’ IN Str\?ezg"’
81 §20: rank Union subsidies 0.740.6 69% 4% 48% 86% 0% 20% Yes Str;f"’ IN S";’e’;g'y
82 g20: rank state subsidies 0.5+0.5 54% 0% 33% 73% 0% 13% Yes IN IN IN
83 §20: rank donors 0.440.6 42% 4% 23% 63% 0% 20% Rather Yes Str?(f"’ IN IN
84 q20: rank assistance 0.340.6 38% 4% 20% 59% 0% 20% Rather Yes Str?(f"’ IN IN
85 20: rank fees & taxes 0.040.7 27% 23% 12% 48% 9% 44% Pe;z:ps IN IN IN
86 q20: rank awareness rising 0.440.7 54% 12% 33% 73% 2% 30% Yes Str;’ensg'y IN IN
87 q20: rank capacity building 0.340.7 46% 15% 27% 67% 4% 35% Pe;:zps IN IN IN




Note: The numbering of the questions, #, starts with 4, as questions #1-3 relate to the respondents. “Question” abbreviates the question from the questionnaires; gX is question
with number X in the questionnaire). “Approximate number” is an aggregation of the aggregated stakeholder responses to an imprecise number. +1, -1 are the percent of approval
and disapproval, respectively. “Lower” and “Upper” are the lower and upper Clopper-Pearson confidence limits (assuming a two-sided P-value p = 0.5, corresponding to 95%
confidence). Conclusion summarizes the outcomes on a scale “unanimous yes/no”, “strongly yes/no”, “yes/no”, “rather yes/no”, “perhaps yes/no” with decreasing reliability, as
explained in the paper. Groups 1-3 are the aggregated responses within three groups of stakeholders, using the first two scales, only (and defining strongly yes/no using the

definition of approval in terms of the function Around.)



